
𝑦

m

2

k

2

k

φ

x

Formiranje jednadžbe gibanja za sustav dan u 17. zadatku:   

𝑥

𝑧



𝜑

𝜑

𝑥 =  𝑥

𝜑

𝜑 = 𝜑  𝑧

𝑥 = 2𝑅𝜑

 𝑥 = 𝑥  𝑖

𝜑

𝜑 = 𝜑  𝑧

𝑥 = −2𝑅𝜑

𝑥 =  𝑥

𝜑 = 𝜑  𝑧

𝑥 = −2𝑅𝜑

 𝑥 = 𝑥  𝑖

𝜑 = 𝜑  𝑧

𝑥 = −2𝑅𝜑

 𝑟 = 2𝑅  𝑗

 𝐹 = −𝑘  𝑥 = 𝑘𝑥  𝑖

 𝑟 = 2𝑅  𝑗

 𝐹 = −𝑘  𝑥 = −𝑘𝑥  𝑖

𝑀

𝑀

 𝑟 = 2𝑅  𝑗

 𝐹 = −𝑘  𝑥 = −𝑘𝑥  𝑖

𝑀

 𝑟 = 2𝑅  𝑗

 𝐹 = −𝑘  𝑥 = −𝑘𝑥  𝑖

𝑀

𝑀 =  𝑟 ×  𝐹 𝑀 =  𝑟 ×  𝐹

𝑀 =  𝑟 ×  𝐹 𝑀 =  𝑟 ×  𝐹

𝐼  𝜑  𝑧 = −2𝑅𝑘𝑥  𝑧

𝐼  𝜑  𝑧 = −4𝑅2𝑘𝜑  𝑧

𝐼  𝜑  𝑧 = 2𝑅𝑘𝑥  𝑧

𝐼  𝜑  𝑧 = −4𝑅2𝑘𝜑  𝑧

𝐼  𝜑  𝑧 = 2𝑅𝑘𝑥  𝑧

𝐼  𝜑  𝑧 = −4𝑅2𝑘𝜑  𝑧

𝐼  𝜑  𝑧 = 2𝑅𝑘𝑥  𝑧

𝐼  𝜑  𝑧 = −4𝑅2𝑘𝜑  𝑧


